AE-F . 2/2017
SUBJECT : ENGLISH (SET-I)

Time : 3 Hrs. M.M.: 80

General Instructions !

Is

(2)

(3)

(4)

(5)

All questions are compulsory.
You may attempt any section at a time.
All questions of that particular section must be attempted in the correct order.
Avoid cutting and overwriting.
SECTION-A (READING)

. Read the following passage carefully and answer the questions given below : (12 marks)

Morpheus says in the Matrix : “There’s a difference between knowing the path, and w'alking
the path.” Life is not easy, packed as it is with challenges. And in the process of living, we
feverishly pursue success, joy and happiness, believing in our hearts that they are interlinked,
that one leads to the other in a smooth flow. But it's a mirage that constantly eludes us.

Joy is often misunderstood; it is also easily forgotten. Yet, the optimum quality of life as we
recognise it is realised through moments of joy. Joy is the ultimate, but to experience it, you
have to be yourself. The lightness of joy is like a feather, free falling in the wind and slipping
through your fingers. Joy is internal, experienced through a culmination of perfect alignment,
rhythm and timing of the self. This near-perfect synchronisation leading to joy in its purest
form is known the ‘sweet spot’.

There is joy in any activity that leads to personal growth and excellence. It calls for enthusiasm
(entheos, the God in you) that disregards success and failures. When you realise your sweet
spot and know what you want, pursue it with a single-mindedness to the exclusion of all
else. :

The sweet spot is what drives you. In evéry game, the player needs to align his mind, body
and spirit. He cannot afford to let his attention waver. The road to excellence is paved with
joy. But the path can get clouded over by lethargy. lack of courage, fear of failure and
insecurities. These invisible enemies are demons of the mind. Self-created, these demons
break down the alignment of mind, body and spirit. It is crucial to recognise and then
obliterate them from the mind. Use every cell in your body and brain to hit that personal
sweet si)ot of joy. Joy is internal whereas success is a creation of society.

Many a lifetime is spent in frustration, because most equate success with joy. Mere fame

and money do not bring joy. Joy emanates from our own actions, from what one feels deep
‘down inside. Success is a social concept measured by fame, money and power — don't fall
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into the trap. Success is sald to be the consequence of certain actions. A result called
success is termed ‘pure action’ by Swami Parthasarathy in The Vedanta Treatise. Pure
action has three qualities, concentration, consistency and cooperative endeavour.
Concentration is defined as the intellect supervising the mind to remain in the present. The
mind has to be continuously supervised as it travels back and forth — to the past and
future — with equal velocity. An unleashed mind can cause self-destruction. An unwavering
mind is the ultimate power of concentration.

()  Choose the most appropriate options out of the following : (1x4=4)
(a) Life is packed with
(i) struggdle (ii) dificulties
(ilj challenges (iv) problems

(b) Human beings madly run after :
(i  success and joy (i) riches and happiness

(ii) success, joy and happiness (iv) material things .

(c) Joy is experienced through a culmination of
(i) perfect alignment (i) timing of the self
(iif) rhythm _ (iv] all these three

(d) Noun form of the word "pure’ is
(i)  pureness (i) pure
(i) purity (iv) puritation

(I)  Answer the given questions in short : ' (1x6=6)

(e) What is the wrong conception in our mind?
()  How can we experience joy?
(@ What is essentizl to realise joy in life?
(h) Who are the invisible enemies?
() What do these invisible enemies do?
() How can we realise the ‘sweet spot’ in ourselves?
(M) Find words {rom the passage which nearr the same as : (1x2=2)
(k) reaching a climax (para 2)
()  eliminate (para 4)
@2. Read the following passage and answer the questions that follow : 8 marks)
(1) Disease-snobbery is only one of a great multitude on snobberies. of which now same. now
others take pride of place in general esteem. For snobberies ebb and flow, (helr empire
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rises, declines, and falls in the most approved historical manner. What were good snobberies
a hundred years ago are now out of fashion. Thus, the snobbery of family is everywhere on
the decline. The snobbery of culture, still strong, has now to wrestle with an organized and
active low-browism, with a snobbery of ignorance and stu pidity unique, so far as I know, in
the whole of history. Hardly less characteristic of our age is that repulsive booze-snobbery,
born of American Prohibition. The malefic influences of this snobbery are rapidly spreading
all over the world. Even in France, where the existence of so many varieties of delicious
wine has hitherto imposed a judicious connoisseurship and has led to the branding of mere
drinking as a brutish solecism, even in France the American booze-snobbery, with its odious
accompaniments-a taste for hard drinks in general and for cocktails in particular is making
headway among the rich. Booze-snobbery has now made it socially permissible, and in
some circles even rather creditable, for well-brought-up men and (this is the novelty) well-
brought-up women of all ages, from fifteen to seventy, to be seen drunk, if not in public, at
least in the very much tempered privacy of a party.

Modernity-snobbery, though not exclusive to our age, has come to assume an unprecedented
importance. The reasons for this are simple and of a strictly economic character. Thanks to
modern machinery, production is outrunning consumption. Organized waste among
consumers is the first condition of our industrial prosperity. The sooner a consumer throws
away the object he has brought and buys another, the better for the producer. At the same
time, of course, the producer must do his bit by producing nothing but the most perishable
articles. ‘The man who builds a skyscraper to last for more than forty years is a traitor to
the building trade’. The words are those of a great American contractor. Substitute motor
car., boot, suit of clothes, ete. for skyscraper, and one year. three months, six months and so
on for forty years, and you have a gospel of any leader of any modern industry. The modernity-
snob, it is obvious. is this industrialist's best friends, for modernity-snobs naturally tend to
throw away their old possessions and buy new ones ata greater rate than those who are not
modernity-snobs. Therefore, it is In the producer’s interest to encourage modernity-snobbery.
Which in fact he does do—on an enormous scale to the tune of millions and millions a year-
by means of advertising. The newspapers do their best to help those who help them: and to
the flood of advertisement is added a flood of less directly paid-for propaganda in favour of
modernity-snobbery. The public Is taught that up-to-dateness is one of the first duties of
man. Docile, it accepts the reiterated suggestion. We are all modernity-snobs now.

Most of us are also art-snobs. There are two varieties of art-snobbery-the Platonic and the
unplatonic. Platonic art snobs merely ‘take an interest’ in art. Unplatonic art-snobs go
further and actually buy art. Plantonic art-snobbery is a branch of culture-snobbery.
Unplantonic art-snobbery is a hybrid from parents of difference or mule, for it is
simultaneously a sub-species of culture-snobbery and of possession-snobbery.
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(1)

Q3.

Q4.

Q5.

Q6.

On the basis of your reading of the above passage make notes on it, in points only, using

headings and sub-headings. Also use recognizable abbreviations, wherever necessary

(minimum 4). Supply a suitable title to it. (5T

Wrile a summary of the above passage, using notes in about 80 words. (3
SECTION-B (ADVANCED WRITING SKILLS)

As Karan/Kripa. the manager of a shopping mall, you need shopping assistants (both male

and female). Drafl a classified advertisement for a local daily. (4)
OR '

The Annual Sports Meet of St. Joseph Convent School, Faridabad is planned to be held on

9 March, 2017. Draft an invitation on behalf of the Principal in not more than 50 words.

As manager of an art emporium, write a letter to the manager, Best Security System,

Chandigarh, complaining against the faults in CCTV cameras installed by the company. You

are Raman/Deepa, Moments Art Emporium. 250 Sector-44, Chandigarh. (©)
OR

Write an application in response to the following advertisement that appeared in The Tribune,

New Delhi. You are Ashutosh/Reema of 41-C, Sector- 18, Rohini, Delhi.

Wanted for a well-known hotel an experienced chef, North Indian food, degree essential,
higher start for deserving candidates. Contact : Manager, Hotel Emperial, Sector-17C,

Rohini, Delhi.
Today the 24-hour television news channels give us instant news from every nook and
corner of the world, and yet the relevance of newspaper has not decreased. Write an article
on ‘The Relevance of Newspaper’, as Sunidhi/Suresh. (10)
OR |

Arya International School, Delhi organised its annual fete on 10 January, 2017. You have
been asked to write a report about it for the school magazine, You are Ajit/Ajeeta, Head
Boy/Head Girl of the school.

SECTION-C (TEXT BOOKS AND LONG READING TEXT)

Read the given extract and answer the questions that follow :

A sweet face. ;

My mother's, that was before [ was born.

And the sea, which appears to have changed less,
Washed their terribly transient feet.

(a) What is the photograph has not changed? (1)
() When was the photograph talen? ] (1)
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Q7.

@8.

Q9.

(c) Explain - ‘terribly transient fcél’. ; (2)

OR
We speak like stranders, there's no sign
Of understanding in the air.
This child is built to my design
Yet what he loves I cannot share.
(@) What does the speaker regret? (1
(b) Why do father and son behave as strangers? (1)
(c) What is peculiar about the relationship between father and son? (2)

Answer any FOUR of the following in 30-40 words each : (3x4=12)
(a) Describe the person whose portrait hung above the mantelpiece. &

(b) Why was Tut buried along with gilded treasures?

(¢} Who are the beneficiaries of rain?

(d) “Every family has a crazy streak in it somewhere", Why does the narrator say so?

(¢) What reason was given by the head teacher for his decision of expelling Albert from
school?

()  What was so funny about the advice of the ‘wisest’ man?

Answer the following in 120-150 words : ' (&) '

Elaborate on the views of Mr. Lester R. Brown as given in the chapter ‘The Ailing Planet.....
OR

How did the narrator prove to be the best captain? (We're not afraid to Die .....")

Answer the following in 120-150 words : (6)
The story writer brings a change in Ranga's character. When does the change come to light?
OR

Mrs, Pearson is a symbol of exploited womanhood. Comment with reference to the play.

Q10. Sir Simon received a splendid farewell. Describe the funeral procession. {120-150 words).

(6)

Q11. The Ghost is the central figure in the novel'. Attempt a character sketch of the Ghost of

Canterville, on the basis of your reading of the novel. (120-150 words). (6)
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TERM 1I EXAMINATION
CLASS-X1
INFORMATICS PRACTICES

-
TIME: 3HOURS MM: 70
GENERAL INSTRUCTIONS:
. All the questions are compulsory.
. Answer the questions after carefully reading the text.
- Programming language — JAVA
. Relational Database - MySQL
Q1 :(a) Explain any two input devices? 2]
(b) Define CPU and its parts. Draw CPU diagram. (2]
(¢) What is a Trojan Horse? How can it affect a computer system? [2]
(d) What do you mean by BIOS? [2]
(e) Differentiate between Compiler and Interpreter. [2]

Q2." a.Jennie is not clear about the difference between the following two statements: [1]
L SELECT (943) * 5
ii. SELECT (9+5) *5 FROM CUST;
Help her to understand the difference between these two statements.

b. What is the purpose of “order by” clause in MYSQL? 2]

c. Rishu has created table with 12 rows and 9 columns. After testing he added 3 rows
and deleted 4 columns. What is the degree and cardinality of the table. [2]

d. Write the output of the following queries: [2]

(i) SELECT ROUND(6666.666,-1);
(i1) SELECT MONTHOFYEAR (*2016-03-01"),

(iii) SELECT POW(10,2)+ SQRT (16) ;

(iv) SELECT INSTR ( 'RED SCHOOL JHABAR', ‘A’ ) ;
e. What is the purpose of column alias? Explain with an example. 2]
f. Write MySQL command to create a new database “CPU™? [1]

Q3: a. While working with Netbeans, Mohan included a Listbox control which
contains student subject. Which method is used to pet selected subject. [1]

b. What is the use of if statement in JAVA.
¢. Name two data types of JAVA that are used to store non fraction values. Explain with

an Example. [2]
d. Explain logical errors with an example. [1]
e. Differentiate between jComboBox and jListBox. [2]

{. Write java code that takes value for principle amount , rate of interest and time fiom jTextfield],
jTextfield2 and jTextfield3 and caleulate simple-interest and display in jTextfieldd.

(simple interest= p* r*¢/100).
g. What is the use of Documentation? [2]
Q4. (a) Write java code to print odd numbers from 1 to 20 using For loop (1} -
13500 :

(b) Rewrite the following using ‘do ...while loop’and check how many times will the

following loop get executed.
Int s=0; (2]



for( int =0 ; 1<=55; i+=5)
gt=i; )

(¢) Distinguish between °/* and *%’ operators. | [
(d) Find the errors in the following code and underlined the corrections made:
int a,b==20; [2]
do
{
a=b*2;
b=a/b
.- while b>40}; i " -
() Rewrite the code using if statément: g 2]

switch(k)

case 1:Day="Monday™;

break; g
case 2:Day="" Tuesday”;
break:
case 3;-Day=”.‘ Wednesday™;
break;
default; Day="-";
, } : . L
(f) Ms. Shelly works in a shopping mall. To calculate net payable amount, she has developed the
"following GUI in NetBeans. ' S - L : {2
E{:U].um“mu R : TEE . i ‘_ :-;-. —%ﬁﬁm
" pelectrtom Trouset | v Payment Type- 1
o s S oash 40
* Enter Quantity " i | ©DebitTad
VR ; . | oredit Gard
Enter Price i
Discount [ et
| ot Payable Amount | o
TV L NN [ —




The shop accepts payments in three modes- Cash, De
as per mode of payment is as follows, If th

=ts an additional discount of 3% on net payable amount.

Mode of Payment

Cash
Debit Card

Credit Card

i) Write the code to make the textficlds for Discount( txiDiscount ) and Net Payable

(txtNetPayable) uneditable.

- ii) When Calculate button is clicked the discount and net payable amount is calculated as per

Discount
15%
10%

Nil

given criteria and displayed in discount and net payable text boxes.

iil) When Clear button is clicked all the text boxes and checkbox should be clear.

iv) Close the application when Exit button is pressed: |

"Q5(a). Write SQL commands for the queries (i) o (vii) based on a table. EShop

-

r

RELATION : EShop

Code| Names  [Company Qty City Price

101 | Maggi  [Kissan 20 Rajkot 70.00
102 | Biscuit |Pule 70 Mehsana | 100.00
105 " | Jam Maggi 60 Ahmedabad| . 95.00
109 | Sauce Nestle 50 IRajkot 86.00
110 | Chocolate |Cadbury 53 ehsana 209.00
107 Cake ide & Seek 20 Junagadh 380.00

(i) To di 'splay names of the iterns whose name ends with ‘e’ in ascending order of price.
(if) To display code, item name and city of the items whose quantity is less than 100.

(iii) To display all items whose price value between 100 to 250.

(iv) To increase the price by 10% of all items.
(v) Add following record to the table.

(vii) To remove cadbury items from the table.
(viii) To display chocolate, jam and biscuit .

11, Pizza, Nestle,40,Rajkot,175.00
(vi) To add one more column totalprice with numeric(10).

(b) 1) Write all arithmetic operators.
i) What is the use of Rrim() function?

bit Card, Credit Cards. The discount given
¢ Member check box is checked then the cusiomer

[1]

the
[4]

[1]
[1]
(8]



Q6(a) Write MySQI. command for creating a table “MEMBER” whose structure is given

below:
- i 2]
Field Name DataType | Size Constraints
Mem Number | Integer 4 Primary Key
Name Varchar 2, e
BirthDate Date N
Fees Integer 8 Not Null
Address Varchar -7 N (RN
PhoneNo Varchar 10 -
(b) Remove the whole structure Member. [1]
(c) Write mysql command to see the structure of the table. [1]
(d) Differentiate between char and varchar. (2]
.« " -(¢) Differentiate between now() function and sysdate() function. ot ' [2]
(H) Write SQL statements to do the following i [2]
i) Display the number of characters in the string:”Smart phones™.
ii) Display the year of the date 2 September 2015.
Q7 () Define E- Governance? Write any two e-Governance sites. [1]
(b) Define E- learning? Write any two e-learning sites. [2]

(c) Rahul works for the Customer Department. He wishes to create controls on
: form for the following functions. Choose appropriate controls from TextBox,
Label, OptionButton, ChechBox, ComboBox, CommandButton and write in
the third column. [2]

No., | Control Used to Control .
Enter name

Enter gender

Choose Country from a list of cities

Submit form

o [ b= 7
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SUBJECT : BIOLOGY

Time ! 3 hrs, MM.: 70

General Instructions :

(i  There are 25 questions and 5 sections in the question
paper. All questions are compulsory.

(i) Section-A contains question number 1 to 5, very short
answer type guestions of one mark each.

(iij) Section-B contains question number 6 to 10, short
answer type-I questions of 2 marks each.

(iv) Section-C contains question number 11 to 20, short
answer type-II questions of 3 marks each.

(v) Section-D contains question number 21 to 23, long
answer type questions of 5 marks each.

(vi) Section-E contains question number 24 to 256 based
on Open Text Material provided by CBSE. Each
question carries 5 marks

(vii) There is no overall choice. However, an internal choice
has been provided in one question of 2 marks, one
question of 3 marks and all three questions of 5 marks
given in Section-D, An examinee is to attempt any one
of the questions out of the twe given in the question
paper with the same question number.

SECTION-A

(1. Name the pyrimidine bases found in RNA. (1)

Q2. Which vacuole is involved in the excretion of wastes in
Amoeba? (1)

Q3. Identify the iype of tissue that constitutes the exocrine
glands in animals? (1)

Q4. Where is notochord present in Urochordata? (1)

(5. What is the site of Calvin cycle in (i) a C, plant and (ii) a C,

plant respectively? (1)

(1)



Q6.

Q7.

Q8.

Q9.

Q10.

Q11
Ql2.

Q13.

Ql4.

Q15.

SECTION-B

How does abscisic acid act antagonistically to auxins ¢ 1
gibberellins? (2)

Describe the blood vessels called vasa rectae found in
relation to uriniferous tubules. What is their function?

OR

Describe the basic layers of the wall of alimentary canal in
humans. : (2)

What are herbarium sheets? Mention the information
provided on the labels present on herbarium sheets. (2)

Proteins may exist in their primary. secondary, tertiary or
quaternary structure. Describe the quaternary structure
of a protein with the help of an example. 2)

Give a technical term for the following conditions in
angiosperms : 2
(a) stamens attached to petals
(b) fused carpels
(¢) inner layer of seed coat
(@) arrangement of flowers on floral axis

SECTION-C
Describe the structure of a monocotyledonous seed.  (3)
(@) Write the floral formula for plant family Solanaceae.

(b) Draw a floral diagram to represent the plant family
to which Pisum sativum belongs?

(¢) What is staminode? (3)
What constitutes the stele in a dicot roof? Describe the
structure of its components. : (3)

Schematically represent the life cycle of an angiosperm.
(3)
{a) What forms cytoskeleton ina cell? State the function
performed by these elements.

(2)



@18,

Q17

Q18.

Ql19.

220.

Q21.

022,

(b)  Give a term to describe the colourless plastids that
store nutrients in plants. What js stored in

elaioplasts? (3)
(a) What are tompetitive inhibitors? How do they affect
chzymatic activity?
(b)  Differentiate between ligases and lyases, (3)

Name one enzyme of gastric juice and one of Pancreatic
Juice that are released 4s proenzymes in the human

OR
How are réspiratory gaseg transported in human blood?
(3)
Describe nitrification along with the €quation and the
Organisms involved in each step. (3)
(@) Schcmatically fepresent the formation of ATP
through chemiosmosis in a chloroplasi.
(b)  What are light harvesting Complexes made up of?
(3)
(@)  Name the OXygen binding pigment founqd g root
nodules of plants like beans and peas,
®)  In what form js phosphorus absorbed by plants?
Mention two important roles of it in plants. (3)
SECTION-D
Name the end product of glycolysis. Where is i produced

In a cell? Explain its aerobic oxidation with the help of g
sthematic representation,

OR

Explain the Pressure flow hypothesis for translocation of
Sugars from source (o sinjc. (5)

Differentiate between Anaphase of mitosis and Anaphase
I of meiosis. Also, draw well labelled diagrams of these

(3)



Q23.

Q24.

25,

(a)

OR
Draw a well labelled diagram of a chloroplast.

(b)  There is division of labour in chloroplast. Justify.

)

Describe briefly the structure of parts of human internal
ear involved in hearing.

(a)

(b)

OR
Name the bones of hindlimb and their number in
our body. -

What is the role of sacroplasmic reticulum, myosin
head and F-actin during contraction of siriated
muscles of humans? (5)

SECTION-E (OTBA)

Slowing down of body metabolism is indicative of a disorder
related to imbalance in production of certain thyroid

hormones.

(a)  Identify the disorder.

(b)  How is the secretion of hormones affected?

(c)  Suggest some changes that can be brought in the
lifestyle to prevent this disorder. (5)

(a) What are the lifestyle factors that increases the risk
of diabetes and what is its major indication?

(b)  Where is the pancreas located? State its endocrine

function. (5)

(4)
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SUBJECT : PHYSICS (SET-II)

Time : 3 Hrs. - M.M.: 70

General Instructions :

()  All questions are compulsory.

(iiy Question numbers 1 to 5 are very short answer
questions carrying 1 mark each.

(ii) Question numbers 6 to 10 are short answer questions
carrying 2 marks each.

{iv) Question numbers 1 1 to 22 are also short answer
guestions carrying 3 marks each,

) Question number 23 is avalue based question carrying
4 marks.

{vi) Question numbers 24 to 26 are long answer questions
carrying 5 marks each.

(vii) Use of calculators is not allowed.

(viii) You may use the following constants :
G = 6.6 x 10" Nm*/kg’

SECTION-A

Ql. Two bodies move in two concentric circular paths of radii
r, and r, (r, > r,) with same time period. What is the ratio
of their angular velocities?

Q2. What would be the effect on the viscosity of a liquid if its
temperature is increased?

Q3. The displacement-time sraph of two bodies P and Q are

represented by lines OA and BC respectively. What is the
ratio of velocities of P and Q7

2y ®

40




Q4.

@s.

Q6.

Q7.

Q3.

Q9.

Are the magnitude and direction of A x B and BxA

same? Justify your answer. -

A tuning fork A produces % beats with another tumng,‘f'ﬁrk

B of frequency 255 Hz. When A is filed, then the beats

frequency increases. Find the frequency of fork A.
SECTION-B

A particle starts from rest and moves along a straight line

in positive-x direction. Acceleration-time graph of the

particle 15 shown. Draw its yelocity-time graph and -

calculate the distance covered by the particle in 8s.

{s)

Two billiard balls each of mass 0.05 kg moving in opposite
directions with speed 6 m/s each collide and rebound with
same speed. What is the impulse jmparted to each ball
due to the other?

A satellite of massm orbits a planet of mass M in a circular
orbit of radius T with angular speed . Show that r and W
are related by the expression : y? = constant. Also find
the value of the constant in terms of G and M.

OR

If the density of the earth becomes 2 times its present value,
mass remaining unchanged; then how would the weight
of an object on the surface of the earth be affected?

An oxygen cylinder of volume 30 litres has an initial
pressure of 15 atm and temperature 97°C. After some
oxygen Is removed from the cylinder, the pressure drops
to 11 atm and temperature drops to 17°C. Estimaie the
change in the number of moles of the oxygen.

(Given: R= g.134 J mol* k', 1 atm = 10° Pa)

(2)



Q10. A solid substance is heated. T
The given figure shows
-“variation of temperature with

the supplied heat. Study the
graph carefully and answer

Terabewalire

the questions : &

(@

(i)

Ql11. (@
(b)

What do the horizontal Witk 1
regions AB and CD Supplaed
represent?
What does the slope of DE represent?

SECTION-C
Write the dimensions of torque.
The frequency of-vibrations of a mass ‘m’ suspended
from a spring of spring constant k is given by the
relation : { = Cm'K’, where C is a dimensionless
constant. Find the value of xand y.

Q12. A body of mass 0.3 lgg is taken up an inclined plane of
length 10m and height 5m and then allowed to slide down
to the bottom. The coefficient of friction between the body
and the plane if 0.15. What is the -

(a)
(b)

()
Q13. (a)

(b)
Q14. (a)

(b)

work done by gravitational force as the body is taken
up?

work done by gravitational force over the round trip?
work done by frictional force over the round trip?
The displacement (¥ of a particle moving in 1d is
related to time by the equation, t =./x - 3- Find

the speed of the particle. Also find the acceleration
of the particle.

With what speed must a ball be thrown upwards so
that it returns to the thrower's hands in 5s?

State the principle of conservation of angular
momentum,

Torques of equal magnitude are applied to a hollow

(3)



Q15.

Q16.

017.

Q18

Q19.

cylinder and a solid cylinder of 8ame mass and same
radii. Which of the two wil] acquire a greater 1 sular
speed afler a given (ime? Explain.

(@  The displacement in a SHM Is given by : x = A sinwt.

(b) Show that the particle velocity in SHM is maximum
at the mean position and minimum at the extreme
position.

OR :

Ablock of mass 3 kg is connected to two identical springs

of spring constant 600 N/m each as shown. The mass is

displaced from its equilibrium position by 5em and
released. WHat is the - '

(@) - time period of oscillations?

M)  total energy of the system? |

(¢)  maximum speed of the block? -

Write the SI units of Bulk modulus of elasticity. A spherical

ball contracts by 0.09% volume when subjected to g

pressure of 100 kPa. Calculate its Bulk modulus,

A projectile of mass m is fired at an angle 8 with the

horizontal with speed U in upwards direction. Find

cxpressions for the (i) maximyum height reached (ij) KE at
the maximuy height. :

Write the equation of state for an adiabatic process. Draw

P-V diagram and find its slope for an adiabatic process,

Calculate the fall in temperature of Helium, initially at

27°C, when suddenly expanded to 8 times its volume,

(r=94)

(@)  Asatellite revolves around a planet with orbital speed
v. Obtain an expression for p,

(b)  Show that the satellite revolving around the earth
would escape forever if its speed increases by 42%.

(4)




Q22.

Q23,

Q24,

(@)  Fouridentical spheres of mass M and radius R each
are placed on a table such that their centres form a
square of side 2R. Find tha position of the centre of
mass of this system,

(b)  Distinguish between centre of mass and centre of
gravity of a body.

in the string when the Masses are released from rest. What
will be the speed of the 12kg block after 1s of jts release?

Abob of mass m is suspended from a light string of length
L. It is imparted a horizontal velocity V, at its lowest point
80 that it just completes the vertical circle, Find an
Expression for V, in terms of I and g.

SECTION-D

Manas and his friends wera enjoying the birthday party of
one of their friends. They were dancing and playing various
games, They were feeling very hot, As there WasnoA.C. in
the room, one of them got an idea. He opened the dgor of
refrigerator thinking that this might relieve him from heat.
On seeing this, Manas immediately rushed towards him
and made him understangd that this would rather increase
the temperature of room. He told him io rest for someiime.
His friend understood this and closed the door of
refrigerator at once,

() What qualities of Manas do you appreciate?

() Temperature inside a relrigerator is 270K androom
temperature is 3]5K. Find the coefficient of
performance of relrigerator.

SECTION-E
State and prove Bernoull's Theorem, Explain any two
applications of Bernoulli's principle,
OR

(5)



Q25.

Q26

What do you mean by capillarity? On the basis of excess
pressure, explain the reason for the rise of water in a narrow
glass tube and find expression for the height upto walch
waler rises.

(a)

(b)

(1)

(1)

Show that the ratio of frequencies of harmonics isa
closed organ pipe is 1:3:5:7.
For a travelling harmonic wave.
y = 2 cos 211 (10t - 0.084 cm. Calculate the wave
velocity. :

OR
What is doppler effect in sound? Write expressions
for the apparent frequency when a source -
(a)  approaches towards a stationary observer
(h) receds away {rom a stationary ohserver.

A particle is executing SHM. Identify the position of
the particle when (a) KE is zero (b) PE is zero (¢) PE
and KE are equal.

What is the need for the banking the tracks? Obtain an
expression for the speed of a vehicle when it takes a turn
on a rough banked road.

OR

Explain why -

(a)

(b)
(c)

(d)

(e)

a ericketer moves his hands backwards while holding
a catch.

it is easier to pull a roller than to push it.
friction is a necessary evil.

static friction s self adjusting,

no work is done against [riction in pure rolling.

(6)
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AE-F 2/2017
SUBJECT : MATHEMATICS (SET-II)

Time : 3 Hrs, M.M.: 100
General Instructions !

(@
(i)
(iii)

(iv)

Q1.
Q2.

Q3.

Q4.

Q5.

Q7.

Read all questions carefully.
The question paper consists of 29 questions.
The question paper consists of four sections A, B, C
and D. Section-A comprises of 4 questions of 1 mark
each, Section-B comprises of 8 questions of 2 marks
each, Section-C comprises of 11 questions of 4 marks
each and Section-D comprises of 6 questions of 6
marks each.
Use of calculators is not allowed.

SECTION-A
Define Greatest Integer function and draw its graph.
Find the least value of n for which 1 + 3+ 3%+ ... nterms
is greater than 7000.
Find the 4th term from the end in the expansion of

< R Y
%)
Find the coordinates of focus and equation of direetrix for

3y* = -Bx
SECTION-B

n
Write A = (XX =—73 & 1 «n < 8, where n e N} in
n,;+1

roaster form and [ind P(A).

How many words can be formed out of the letters of the
word ‘OBEDIENCE' so that vowels and consonants occur
together? Write importance of OBEDIENCE in our lile.

For any two complex humbers z; and z; prove that
Im(z,2:) = Rezi.Imz; + Rezz.lmz

. ; : )



Q8.

Q9.

Q10.
Oll.

Ql2.

Q13.

Q14.

Q15.

Ql8.

Q17.

Find the points on the z-axis which are at a distance of 6

units from the point (=4, 2, =1)

Ifin an A.P., the first term is a and the sum of first p terms
-a(p+qlq
is zero, show that the sum of the next ¢ terms is p SRL v

Find the modulus and conjugate of | + j/3
Find eccentricity, length of conjugate and transverse axes

for y* - 16x° = 16.
In a single throws of two dice, what is the probability of
getting :

()  amultiple of 2 on one dice and a multiple of 3 on the
other?

() the sum as a prime number?
SECTION-C
Find the square root of =15 -8i

i B
If the fourth term in the expansion of (ax + e ] is 9

' 1 n
then find the values of a and n, hence expand | aX + ;]

} tanx - sinx
Evaluate ; lim FoRtiet ot i
x—0 sin“x
1
f[x) = ——

2

Find the domain and range of )
-X

1
Prove that ; cos20° cosd0® cosB0® cos80° = Tg

OR

secB0 -1 _ 1ans®
secdd -1  tan20
(2)

Prove that :



Ql8.

Q19.

20.

Q21.

Q22.

Q23,

Q24.

Using PMI, prove that :

1 1 1 1 i nn+38)

e e i ———Fa — = ;
123 234 345 . nm+n+2 4n+1)n+2)

for alln & N.
If the points A (1, 0, -6). B (-3, p. q and C (-5, 9, 6) are
collinear, find the values of p and ¢.

Find the image of the point (3, 8) with respect to the line
x+ 3y = 7. assuming the line to be a plane mirror.

Find the equation of the circle passing through the points
(2. 3), (1. 1) and whose centre lie on line x - 3y=11.

OR

Find the coordinates of foci, vertices, the lengths of major

axis, minor axis, latus rectum and eccentricily of
9x + 25y" = 225.

1/ 1

3 . 9/3

() Evaluate: It e +2)7% - 27
x— X

(i)  Find the derivative of {{x) = /tan( 19x2 +10x + 4)
How many numbers are there between 100 and 1000
(including 100 but excluding 1000) such that
() atleast one of the digits is 5.
(i)  atleast one of the digits is repeated.

OR
Find the number of ways of choosing a committee from
four men and six women $o that the committee includes
aileast two men and exactly twice as many woren as men.
Should women be given equal rights? What values are being
promofed?

SECTION-D

Find the sum of first n terms of the series
B+9+16+27+42+........

OR

A line is such that its segment between the lines,
fx-y+4=0and3x+4y-4=01Is bisected at the point
(1, 5). Obtain its equation.

(3)



Q25. Find the derivatives of :

Q26.

Q27.

Q28.

Q29.

xtanx
secx + tanx
i) fN=0Bx+4BX-7x+9)

Calculate the mean and standard deviation for the following
data :

Wage per day (in %) No. of workers

(i) flx) =

0-100 9
100-200 17
200-300 32
300-400 24
400-500 40
500-600 18
600-700 1
() Solve: cot’e+ S +3=0 (4)
sin@

(i) Inaright angled triangle, the difference between two

acute angles is ;‘; in radian measure, Express the

angles in degrees. (2)
Solve the following system of linear inequalities graphically:
12x+ 12y < 840, 3x+ 6y < 300, Bx* 4y < 480, x,y > 0
If the letters of the word ASSASSINATION are arranged at
random in a row, find the probability that
(i)  four S's come together.
(i) all A's are not coming together.
(ii) no two A’s are coming together.

OR

Find the probability that when a hand of 7 cards is drawn
from a well-shuffled deck of 52 cards, it contains (i) all
kings (i) exactly 3 kings (ili) atleast 3 kings.

(4)



AE-F 2/2017
SUBJECT : PHYSICS (SET-II)

Time ; 3 Hrs. M.M.: 70

General Instructions :

(i)  All questions are compulsory.

(i) Question numbers 1 to § are very short answer
questions carrying 1 mark each.

(iii) Question numbers 6 to 10 are short answer questions
carrying 2 marks each.

(iv) Question numbers 11 to 22 are also short answer
questions carrying 3 marks each. _

() Question number 23 is avalue based question carrying
4 marks.

(vi) Question numbers 24 to 26 are long answer guestions
carrying 5 marks each.

{vii) Use of calculators is not allowed.

{viii) You may use the following constants :
G = 6.6 x 10" Nm’/kg’

SECTION-A

Ql. Two bodies move in two concentric eircular paths of radii
r, and r, (r, > r,) with same time period. What is the ratio
of their angular velocities?

Q2. What would be the effect on the viscosity of a liquid il its
temperature is increased?

Q3. The displacement-time graph of two bodies P and Q are

represented by lines OA and BC respectively. What Is the
ratio of velocities of P and Q7




Q4.

Q5.

Q6.

Q7.

Q8.

Q9.

Are the magnitude and direction of 4 g and g A
same? Justify your answer. ~
A tuning fork A produces 5 beats with another tuning fork
B of frequency 255 Hz. When A is filed, then the beats
frequency inereases. Find the frequency of fork A.
SECTION-B
A particle starts from rest and moves along a straight line
in positive-x direction. Acceleration-time graph of the
particle is shown. Draw its velocity-time graph and
caleulate the distance covered by the particle in 8s.

a (ms?)

Two billiard balls each of mass 0.05 kg moving in opposite
directions with speed 6 m/s each collide and rebound with
same speed. What is the impulse imparted to each ball
due to the other?

A satellite of mass m orbits a planet of mass M in a circular
orbit of radius r with angular speed w. Show that r and w
are related by the expression : r'w” = constant. Also find
the value of the constant in terms of G and M.
OR

If the density of the earth becomes 2 times its present value,
mass remaining unchanged; then how would the weight
of an object on the surface of the earth be affected?.

An oxygen cylinder of volume 30 litres has an Initial
pressure of 15 atm and temperature 27°C. After some
oxygen is removed from the cylinder, the pressure drops
to 11 atm and temperature drops to 17°C. Estimate the
change in the number of moles of the oxygen.

(Given: R=8.134 J mol™” k™, 1 atm = 10° Pa)

(2)



Q10. A solid substance is heated
The givep figure shows

~ variation of temperature with é
the supplied heat. Study the 5.

s
T

Eraph carefully and answer
the questions :

|

) What de the horizontal Heat
regions AB and CD Fupplacd
represent?

(1)  What does the slope of DR répresent?

SECTION-C

QlL. (@)  Write the dimensjons of torque.

(b) The frequency ofvibrations of 3 mMass ‘m’ suspendeg
from a spring of SPring constant k is given by the
relation : f = Ca'k", where ¢ ig a dimensionlegs
tonstant. Find the value of Xxand y,

Q12. A body of mass 0.3 kg is taken Up an inclined plane of
length 10m ang height 5m ang then allowed to slide down
to the bottom. The coefficient of frietion between the body
and the plane if 0, 15, What is the -

(@)  work done by gravitational force as the body is takep
up?

(b)  work done by gravitational force over the round trip?

(€)  work done by frietional force over the round trip?
Q13. (a) The displacement (x of 5 particle moving in 14 ig
related to time by the €quation, ¢ _ vx - 3. Find

(b)  With what speed must a bal] he thrown upwards gq
that it returns to the thrower's hands in 5g?

Ql4. (@) Stgte the principle of tonservation of angular
momentum,

(B)  Torques of equal magnitude are applied to a hollow
(3



cylinder and a solid cylinder of Same mass and same
radii, Which of the two wil] acquire a greater af. lar
speed after a given time? Explain,

@15. (a) The displacement in a SHM s given by : x = A sinwt.

Q186.

Q17

Q18,

@319,

Prove that x will remaip, same if time is increased by

(b)  Show that the particle velocity in SHM g maximum
at the mean position and minimum at the extreme
position.

OR

A block of mass 3 kg js connected to two identical springs
of spring constant 600 N/m each as shown. The mass js
displaced from itg equilibrium position by Sem and
released. What is the -

(a)  time period of oscillations?

(b)  total energy of the system? M

()  maximum speed of the block?
Write the ST units of Bulk modulus of elasticity. A spherical
ball contracts by 0.099 volume when subjected to a
pressure of 100 kPa. Caleulate its Bulk modulus.

A projectile of mass m s fired at an angle 8 with the
horizontal with spéed u in upwards direction. Find
expressions for the (i) maximum 1eight reached (ii) KE at
the maximum height.

Write the equation of state for an adiabatic process. Draw
P-V diagram and find jts slope for an adiabatic Process,
Calculate the fal] in temperature of Helium, initially at

27°C, when suddenly expanded to 8 times its volume. __

(v=94)

(a) Asatellite revolves around g planet with orbital Speed
v. Obtain an expression for p.

(b) Show that the satellite revolving around the carth
would escape forever if Its speed increases by 42%,

4)




Q20.

Q21.

922.

Q23.

024,

(a)  Fouridentical spheres of mass M and radius R each
are placed on a table such that their centres form a
square of side 2R. Find the position of the centre of
mass of this system.

(b)  Distinguish between cenire of mass and centre of
gravily of a body.,

Two masses 8 kg and 12kg are connected at the two ends

of a light inextensible thread that goes over a frictionless

pulley. Find the acceleration of the masses and the tension
in the string when the masses are released from rest, What
will be the speed of the 12kg block after 1s of its release?

Abob of mass mis suspended from a light string of length
L. It is imparted a horizontal velocily V, at its lowest point
so that it just completes the vertical circle. Find an
expression for V; in terms of L and g.

SECTION-D

Manas and his friends were enjoying the birthday party of
one of their friends. They were dancing and playing various
games. They were feeling very hot. As there was 110 A.C. in
the room, one of them got an idea. He opened the door of
refrigerator thinking that this might relieve him from heat.
On seeing this, Manas immediately rushed towards him
and made him understand that this would rather incregse
the temperature of room. He told him to rest for sometime,
His friend understood this and closed the door of
refrigerator at once.

(i)  What qualities of Manas do you appreciate?

(i)  Temperature inside a refrigerator is 270K and room
temperature is 315K. Find the coelficient of
performance of refrigerator.

SECTION-E
State and prove Bernoulli's Theorem. Explain any two
applications of Bernoulli's principle.
OR

(5)



Q25.

Q26.

What do you mean by capillarity? On the basis of excess
pressure, explain the reason for the rise of water in a narrow
glass tube and find expression for the height upto wirth
water rises.

(a)

)

(i)

(i)

Show that the ratio of frequencies of harmonics is a
closed organ pipe is 1:3:5:7.

For a travelling harmonic wave,
y = 2 cos 2I1 (10t - 0.08x) cm. Calcuiate the wave
velocity.

OR

What is doppler effect in sound? Write expressions
for the apparent frequency when a source -

(a)  approaches towards a stationary observer
(b)  receds away from a stationary ohserver,

A particle is executing SHM. Identify the position of
the particle when (a) KE is zero (b) PE is zero (c) PE
and KE are equal.

What is the need for the banking the tracks? Obtain an
expression for the speed of a vehicle when it takes a turn
on a rough banked road.

OR

Explain why -

(a)

(b)
(c)
(c)
(&)

a cricketer moves his hands backwards while holding
a catch.

it is easier to pull a roller than to push ii.
friction is a necessary evil,

static friction is self adjusting.

no work is done against friction in pure rolling.

(6)



Final Term
Class-XI|

SUBJECT: PHYSICAL EDUCATION (Code No. 048)
Time: 3 hrs. M.M.: 70

General Instructions:

(i} Al questions are compulsory.

(i) Answer to questions (1-11) carrying 1 mark should be in dpproximately 30 words.

(ilf) Answer to questions (12-19) carrying 3 marks should be in approximately 100 words.

(iv) Answer to questions (20-25) carrying 5 marks should be in approximately 150-200 words.

Ql. What do you mean by recovery? (1)
Q2. What is style? (1)
Q3. Define sports psychology. (1)
Q4. What is Static Equilibrium? (1)
Q5. What do you mean by slow twitch fibers? (1)
Q6. Define Physical Activity? (1)
Q7. Enlist the types of doping? (1)
Q8. What is meditatioﬁ? (1)
Q9. What is the aim of Physical Education? (1)
Q10. What is the aim of CBSE sports? (1)
Q11.What is technique? (1)
Q12. Explain any three Elements of Yoga? (3)
Q13. What are the side effects of anabolic steroids? (3)
Q14. Discuss any three components of health related physical fitness. (3)
Q15, What are the traits of Endomorphs? (3)
Q16. Discuss the major types of Joints. (3)
Q17. Discuss the law of Inertia and its application in sports. (3)
Q18. Differentiate between growth and development. (3)
Q19. What is Overload? Mention the symptoms of overload. (3)

Q20. What do you mean by test and measurement? Elucidate the importance
of test and measurement in the field of sports. (5)
Q21. Explain about second wind and changes that occur in our body due to second wind.(5)

Q22. What do you mean by levers? Elaborate the applications of levers in sports. (5)



Q23. Discuss the laws of learning along with their application in sports. (5)
Or

What do you mean by Plateau? Elaborate the causes of Plateau in the field of physical
education and sports

Q24. What do you mean by Sports training? Explain the principles of sports training. (5)
Q25. Define warming up. Explain the types of warming up. (5)
or
Discuss any five principles of physical activity.
Q26. What do you mean by common lifestyle diseases? Discuss any one in detail. (5)
Or

Discuss in detail about Chacha Nehru Sports Award.



